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Circle the correct answer from each of the four possible answers in the questions that follow:

1.1

1.2

1.3

A circle has a diameter of 6 cm. What is the area in cm? of a quarter of the circle? (1)
A 36n
B 9=
c On

4
b 9t

2
In the figure below, AB = AC and AE = AD. Why is AABE = AACD? (1)

A
D E
B C

A SSS
B RHS
C SAS
D AAcorr. S
One exterior angle of a regular octagon is degrees. (1)
A 45
B 80
C 135
D 360
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The size of AEC interms of X in the diagram below is: (1)
A B
X
.
E D C

A X
B 90" —x
C 90 +x
D 2x

A rectangular tank with a length of 50 cm and a width of 30 cm contains 24 (

of water. The depth of the water is: Q)
A 126cm

B 144cm

C 16cm

D 40cm

A and B are two similar cylinders with equal bases. The height of cylinder A
is 10 cm and its volume is 450 cm®. The volume of cylinder B is 3600 cm®. The
height of cylinder B is: Q)

0O W >

N

B
A
10cm
450 cmP 3600 cm®

40 cm

80 cm

160 cm
200 cm
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In the bar graph below, which one of the following is closest to the mean number of
seeds per apple?

0O W >

A fair blue dice has its faces marked with the numbers 2; 2; 2; 2; 3 and 3.

g WN

Number of apples

Number of seeds in 12 different apples

9]

N

w

3]

=

o
I

] IlI |
1 2 3 4 5 6

Number of seeds

7

A fair red dice has its faces marked with the numbers 1; 1; 2; 2; 2 and 3.

If you roll the two dice at the same time, what is the probability of getting

a double two?

A

B

S|\‘ O Ok, Wk

(1)

1)
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Question 2
Solve for X in the diagrams below, giving reasons where necessary:
2.1 A (5)
D
X+ 16°
44° ¢
B
2.2 (5)
G
F H

X+ 15°
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Question 3

In the diagram below, O is the centre of the circle, ABO = 126° and
BOC = COD = x.

Calculate the size of reflex angle BOD, giving reasons. (8)
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Question 4

AABC is not drawn to scale.
Determine whether AABC is a right angled, obtuse angled or acute angled triangle. (6)

A

12
18



Question 5
Given the diagram below, with AB = DC, answer the questions that follow:

5.1

5.2

5.3

5.4

24cm

P [
<« »

Classify quadrilateral ABCD and give reason for your classification.

Calculate the area of quadrilateral ABCP.

Why is AP = TC?

Prove that AAPD = ACTB.
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(2)

(2)

1)

(4)
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Question 6
In the diagram below, PQRS is a square. T lieson PQ and SV 1L TR.

P S
71
12cm
TT
5 (im Y,

Q R
6.1  Prove that AQTR ||| AVRS (5)
6.2 Calculate the length of TR. (3)

6.3 Calculate the length of VS, rounded off to 2 decimal places. 3)
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Question 7

Goldfish are kept in a cylindrical tank which has a radius of 20 cm. The tank is filled to a
height of 30 cm with water.

30cm

7.1  Each fish needs 1 litre of water. How many fish can the cylinder hold?
[Tcm® =1m(] 4)

7.2 You decide to clean the inside of the tank. What area will you have to clean if
the tank is 50 cm high? (2)



Question 8
In the given sketch, A (4; -5), B (3;-3) and C (1; —4) are the co-ordinates of AABC.

8.1

8.2

8.3

8.4

o Qo
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AABC is reflected about the x-axis to form AAB'C'.
Make a neat labelled sketch of AAB'C'.

AABC is translated 3 units up and 5 units left to form AA"B"C".
Make a neat labelled sketch of AA'B"C".

AABC is reflected about the line y = X to form AA"B"C™.
Write down the co-ordinates of C"

Write down the algebraic rules for the transformations you performed on
AABC of the triangle in Questions 8.2 and 8.3.

AXiy) — A'( : )
AXiy) — A"( ! )
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(2)

()

1)

()
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Question 9
Liam’s Grade 11 Exam marks that he got in 6 of his 7 subjects are as follows:
English: 73%
Afrikaans: 69%
Maths: 85%
Physics: 82%

Life Sciences: 90%
Chemistry: 75%

9.1 Determine the range of the marks. (1)

9.2 Calculate the difference between the mean and the median marks for
these 6 subjects (5)

9.3 UCT requires an average of 80% across 7 subjects for entrance into the
BSc programme. What mark does Liam need to get for Life Orientation
in order to study a BSc degree? (2)
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Question 10

576 teens volunteer their help at various charities around Vredehoek. A sample of this
population was surveyed and the results were tabulated. Each person only selected one
reason as to why they volunteered.

Reason Frequency
To help others 47
| enjoy the work 38
| have lots of free time 25
To learn 24
To help a friend 20
Religious reasons 19
Past experience 10
Other 7
I don’t know 2
10.1  How many teens were surveyed? Q)

10.2 Using this information, how many teens in Vredehoek volunteered because they
‘enjoy the work’? Q)

10.3  If you had to draw a pie chart of the data in the table, how many degrees
would the sector ‘To help a friend” be? (2)
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Question 11

The partially completed tree diagram below represents a coin which is flipped and a
dice that is rolled thereafter.

1 1
6 2
3
H 4
5
6
1 1
2 2
3
T s
\ 5
6

11.1  What is the probability that you flip a tail on the coin and get a five on the dice? (1)

11.2  What is the probability that you get a tail and a factor of 6? (1)

11.3  What is the probability that you flip two tails in a row? (1)
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BONUS QUESTIONS

1. Anne, Bongi and Carol are wearing dresses and shoes that are green, black or
yellow. No two dresses or pairs of shoes are the same colour. Anne has yellow
shoes. Bongi does not have a black dress or black shoes and only Carol has the
same colour dress and shoes. What colour dress and shoes does Bongi have? (1)

2. A survey of 80 people at a local food outlet indicated their meal preferences: (1)

44 people like Pap (P)

33 people like Burgers (B)

39 people like Fried Chicken (FC)

X people like Pap and Burgers, but not Fried Chicken
23 people like Pap as well as Fried Chicken

19 people like Burgers and Fried Chicken

9 people like Pap, Burgers and Fried Chicken

69 people like at least one of these meals

Determine the value of x.

3. The radius of the inscribed circle of the right-angled triangle below is 6 cm. The
length of one of the shorter sides is 24 cm. What is the area of AABC? (2)

A

o

B 24.cm C




